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GEOS—Chem v9—-02] Frequency Distribution

ctm.bpch.v9—02] / ctm.bpch.v9—02i

NO
kB8 0.16 0.16 0.20 0.28 0.33 0.40 0.61 0.76 2.02 1346 3.88 2.1 1.37 0.54 0.25 0.20 0.14 0.09 0.16 _ 133
F0.13 0.15 0.20 0.22 0.28 0.33 0.45 0.68 0.80 2.84 10.89  3.60 1.86 0.77 0.59 0.39 0.19 0.12 0.09 0.07 o
= 014 0.15 0.20 0.23 0.26 0.36 0.50 0.66 0.84 4.41 7.67 3.4 1.63 0.77 0.38 0.23 0.18 0.11 0.09 0.08—
= o018 0.18 0.19 0.24 0.32 0.37 0.60 0.70 113 5.96 4.71 3.1 1.56 0.58 0.33 0.22 0.15 0.23 0.14 0.0
IHA % —
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
03
=1 1 0 9 0.01 0.02 0.04 0.11 0.65 58.35  0.08 0 0 0 0 0 0 0 0 _
= 0 1 4 7 0.01 0.02 0.04 0.16 0 0 0 0 0 0 0 0 =
=) 1 2 3 6 0.02 0.03 0.08 0.36 0 0 0 0 0 0 0 0 _—
=1 1 1 3 4 0.02 0.03 0.10 0.43 0 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
PAN
bos  0.02 0.01 0.02 0.04 0.06 0.12 0.21 0.55 2.23 8.21 6.18 1.85 1.01 0.59 0.13 0.07 0.05 0.03 0.02 _T37
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=7 8 0.02 0.05 0.06 0.10 0.16 0.36 1.59 5.95 8.91 2.23 1.24 0.56 0.15 0.08 0.04 0.03 0.02 0.0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
CO
- o 0 0 0 0 0 0 0 0 4397  3.89 0.11 0.02 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 2483  0.62 0.12 3 0 0 0 0 0 0 =
=) 0 0 0 0 0 0 0 0 0.07 16.13  0.25 0.09 0 0 0 0 0 0 0 _—
= o 0 0 0 0 0 0 0 0 1 8.18 0.14 0.04 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
ALK4
- o 0 0 0 0 0 0 0.04 0.31 1.13 10.83  3.23 1.98 1.58 1.13 1.02 0.66 0.60 0.51 _ 504
Fo 0 0 0 0 0 0 1 0.12 0.35 2.3 8.11 2.66 1.85 1.41 0.96 0.88 0.77 0.40 047 —
=) 0 0 0 0 0 0 0.0 0.17 0.50 5.89 5.43 2.36 1.73 1.30 1.16 0.93 0.58 0.55 0.61-
= o 0 0 0 0 0 0 0.03 0.24 0.65 17.34  3.90 2.32 1.72 1.03 0.95 0.91 0.65 0.38 0.24
= R E
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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GEOS—Chem v9—-02] Frequency Distribution

ctm.bpch.v9—02] / ctm.bpch.v9—02i

ISOP
47 0.02 0.01 0.02 0.02 0.03 0.05 0.06 0.07 0.14 5.08 1.32 1.96 1.88 1.62 1.37 1.40 1.51 1.55 142 =173
5 0.02 0.01 0.02 0.02 0.02 0.06 0.06 0.09 0.22 0.85 1.43 2.06 1.80 1.42 1.28 1.56 1.59 1.55 1.68 —
= 0.02 8 7 0.02 0.03 0.04 0.04 0.05 0.11 0.22 1.18 1.71 1.91 1.68 1.47 1.32 1.37 2.07 1.62 1.4
= 003 0.01 0.01 0.05 0.02 0.04 0.05 0.07 0.11 0.30 1.25 1.86 1.9 1.57 1.39 1.35 1.48 1.55 1.69 M
= — i
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
HNOJ3
i1 0.0 0.01 0.02 0.02 0.05 0.09 0.22 0.84 3.09 28.10  4.17 0.21 0.02 5 1 1 2 0 0 _
.01 0.02 0.02 0.02 0.02 0.05 0.12 0.28 0.88 4.28 16.23  1.98 0.08 9 1 0 0 1 0 0 =
= 0.01 0.02 0.02 0.04 0.07 0.13 0.37 1.53 5.86 9.18 0.76 0.05 7 1 1 1 0 0 o _—
= 001 0.01 0.02 0.03 0.04 0.09 0.18 0.49 %4 0.03 4 3 1 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
H202
=357 0.83 0.92 0.94 1.44 1.80 2.37 4.0 3.56 2.99 1.36 0.68 0.26 0.08 0.01 2 0 0 0 0 _
F0.76 0.81 0.92 1.21 1.29 1.85 2.91 4.23 2.71 3.33 1.21 0.48 0.22 0.07 5 0 0 0 0 0 —
= 073 0.76 0.88 1.07 1.47 2.06 2.95 4.15 2.73 2.87 .11 0.39 0.30 0.05 1 0 0 0 0 o _—
= 089 0.85 0.88 1.13 1.74 2.24 3.93 3.91 2.64 1.94 1.03 0.31 0.14 0.04 0 0 0 0 0 0
wv_v T T T 1.1 [ .1 T . t—T 1 —T.T T 1+— —_ L —
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
ACET
- o 0 0 0 0 0 0 1 9 50.38  2.53 0.01 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 3 7 0.01 1871 0.17 0 0 0 0 0 0 0 0 —
= o 0 0 0 0 0 0 1 9 0.04 17.60  0.08 0 0 0 0 0 0 0 o _—
= o 0 0 0 0 0 0 3 5 0. 0.88 0.04 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MEK
- o 0 0 0 0 0.02 0.11 0.52 3.39 7.99 3.2 2.13 1.28 0.82 0.31 0.03 0.02 0.03 0.01 _T37
Fo 0 0 0 0 0 0.02 0.13 0.72 6.95 4.94 3.04 1.86 1.02 0.80 0.72 0.03 0.03 0.02 0.02 —
= o 0 0 0 0 0 0.03 0.22 1.24 2172  3.74 2.43 1.77 0.94 0.53 0.12 0.04 0.01 0.02 0.a1
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GEOS—Chem v9—-02] Frequency Distribution
ctm.bpch.v9—02] / ctm.bpch.v9—02i

ALD2
- o 0 0 0 0 0 0 0 7 4.23 9.77 4.94 2.44 1.36 0.59 0.41 0.24 0.20 0.13 _ 148
Fo 0 0 0 0 0 0 0 0 0.03 9.38 7.78 417 2.05 1.22 0.58 0.34 0.22 0.15 012 o
=) 0 0 0 0 0 0 0 0.09 10.76  5.39 3.29 1.47 1.17 0.50 0.32 0.21 0.16 0.117
= o 0 0 0 0 0 0 0 0 0.83 12.44  5.19 2.89 1.41 0.69 0.46 0.28 0.20 0.16 04
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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- o 0 0 1 3 6 0.07 0.54 4.3 3.94 6.82 2.68 2.55 2.57 2.07 0.37 0.14 0.08 0.04 _ 47
Fo 0 0 0 0 4 0.03 0.17 0.85 5.99 4.8 5.41 2.65 2.46 2.00 0.91 0.26 0.13 0.06 0.03 o
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= o 0 0 0 3 6 0.05 0.42 2.17 3.6 7.58 2.93 2.29 2.61 1.43 0.49 0.19 0.11 0.04 0.0
= . D e B e e s s P I e e e e =
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MVK
mne 6 3 0.01 3 0.02 0.03 0.05 0.09 0.21 1.61 1.33 1.87 1.96 2.88 3.03 1.94 1.29 0.99 0.95 _ 2523
= 3 4 6 9 0.02 0.03 0.06 0.11 0.24 1.48 1.55 1.76 2.47 3.46 2.47 1.61 1.28 1.07 0.93 —
= 6 5 0.01 5 0.02 0.04 0.08 0.17 0.41 1.32 1.80 1.84 2.57 3.84 2.3 1.51 1.10 0.93 0.92
= 3 4 9 9 0.02 0.03 0.05 0.10 0.16 0.70 1.31 1.84 1.90 2.58 3.92 2.15 1.36 1.10 0.88 0.8
— T T T . torr—r—7t 7o
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MACR
s 6 7 8 7 0.02 0.05 0.05 0.11 0.21 1.75 1.23 1.68 1.86 2.74 2.46 2.09 1.47 1.14 0.95 _—2b.88
=1 5 0.01 0.01 0.02 0.02 0.05 0.08 0.13 0.26 1.43 1.35 1.71 2.46 3.23 2.42 1.97 1.49 1.05 091
= 5 3 0.01 0.02 0.03 0.04 0.09 0.13 0.35 1.25 1.48 1.57 2.13 3.61 2.47 1.68 1.35 1.06 0.87]
= 7 3 6 0.02 0.02 0.02 0.06 0.10 0.16 0.62 1.24 1.60 1.72 2.47 3.40 2.3 1.49 1.18 113 0.8(
— T T T [T trT T T
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PMN
14 0.0 6 9 0.04 0.05 0.09 0.15 0.21 0.53 2.98 3.05 3.20 2.78 1.58 1.12 0.98 0.80 0.75 0.82 _3.32
Fo 2 7 0.01 0.05 0.09 0.08 0.16 0.28 0.80 2.39 3.3 3.28 2.63 1.45 1.15 1.08 0.79 0.69 0.61 —
= 5 0.01 0.03 0.05 0.08 0.11 0.20 0.30 0.99 3.25 3.08 3.38 2.35 1.34 1.01 0.81 0.75 0.71 0.6
= o001 0.01 0.01 0.03 0.04 0.08 0.10 0.18 0.42 1.35 2.98 3.57 3.68 1.86 1.25 0.97 0.78 0.76 0.68 0.5
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PPN
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80— —
c0I43  0.04 0.05 0.11 0.14 0.27 0.46 0.98 2.52 4.73 16.96  2.91 1.65 0.43 0.23 0.12 0.06 0.03 0.02 0.02 _ 47
F0.03 0.05 0.06 0.10 0.16 0.32 0.56 1.20 3.25 3.90 9.79 2.39 0.83 0.42 0.18 0.11 0.06 0.03 0.03 001 o
40003 0.04 0.09 0.12 0.20 0.36 0.62 1.65 4.95 4.3 5.53 1.98 0.62 0.38 0.16 0.10 0.04 0.02 0.02 8 _—
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20— —
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0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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100 = : : : , : : : —
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PRPE
100 = : : : : : : : —
80— —
co03  0.02 0.01 0.01 0.02 0.03 0.06 0.08 0.13 0.23 3.74 1.85 1.91 1.57 1.79 2.58 2.89 1.62 1.05 0.82 _—20.69
F2 8 0.01 0.02 0.01 0.04 0.07 0.1 0.14 0.26 5.02 2.07 1.85 1.71 2.11 2.66 1.94 1.47 1.08 0.77 o
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C3H8
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20— —
oE | | | s =
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CH20
100 = : : : : : : : —
80— —
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Fo 0 1 2 0.20 0.24 0.18 0.50 2.32 8.04 5.90 1.05 0.22 0.06 9 7 3 0 0 0 =
400 0 1 4 0.08 0.12 0.34 0.48 4.95 10.18 313 0.80 0.18 0.03 0.01 0.01 2 0 0 0 _—
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C2H6
- o 0 0 0 0 0 0 0 0 32.60  9.05 0.14 0.09 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 27.07  2.73 0.12 0.06 0 0 0 0 0 0 =
=) 0 0 0 0 0 0 0 0 0 13.86  0.59 0.11 0.02 0 0 0 0 0 0 _—
= o 0 0 0 0 0 0 0 0 0. 13.09  0.28 0.10 7 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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P83 0.13 0.18 0.24 0.32 0.38 0.49 0.81 1.76 2.22 8.44 3.54 2.15 1.58 0.91 0.45 0.28 0.21 0.16 0.10 _=320
F0.13 0.13 0.20 0.32 0.29 0.41 0.57 0.82 1.38 2.62 6.74 2.85 1.96 1.37 0.84 0.58 0.37 0.32 0.16 011 o
= 013 0.14 0.24 0.28 0.36 0.43 0.58 1.54 1.70 3.56 6.70 2.56 2.24 1.23 0.61 0.50 0.26 0.17 0.14 0.10
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= I oy e b oy e S =
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296 0.70 0.88 1.07 1.26 1.38 1.46 1.82 2.74 4.10 1.79 1.40 0.78 0.35 0.11 0.03 5 0 0 0 _
F0.79 0.77 0.88 1.21 1.35 1.53 1.59 2.17 3.19 4.55 1.63 1.12 0.8 0.42 0.08 7 4 0 0 0 =
= 0.59 0.92 1.10 1.68 1.38 1.38 1.63 2.23 3.37 5.47 1.52 0.88 0.47 0.20 0.07 9 1 0 0 0 _—
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\H_v’ ——r—r—r T b ) —
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= 022 0.25 0.42 0.79 0.78 1.16 2.26 4.43 7.89 5.59 0.61 0.15 0.09 0.04 7 0 0 0 0 0 _—
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= S s OO I O e s s S . —
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20— —
o= , , R i e Es
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
S04
100 = : : : , : : : —
80— —
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sz 017 0.20 0.31 0.55 0.76 1.15 1.03 1.21 1.89 9.52 3.99 1.68 0.76 0.26 0.17 0.11 0.08 0.06 0.07 _ 61
F0.13 0.18 0.21 0.47 0.75 0.86 1.24 1.01 1.22 3.07 1047  3.59 1.22 0.51 0.27 0.31 0.10 0.08 0.07 0.03 —
= 014 0.16 0.24 0.75 0.83 1.03 1.21 1.04 1.22 5.03 6.36 3.36 1.03 0.46 0.23 0.27 0.10 0.06 0.07 0.04
= o018 0.18 0.28 0.54 0.88 1.13 0.90 1.09 1.54 7.30 4.69 3.93 0.71 0.36 0.21 0.13 0.07 0.08 0.05 0.0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
NO3
o1 0.8 0.21 0.28 0.63 0.93 1.28 1.25 1.54 1.93 7.44 5.22 1.74 0.62 0.40 0.15 0.24 0.21 0.03 0.01 _mo02
F0.13 0.17 0.23 0.73 0.90 1.00 1.00 1.35 1.56 2.40 12.99  4.23 1.12 0.54 0.38 0.25 0.09 0.06 0.03 7 —
= 014 0.17 0.24 0.49 1.00 1.09 1.20 1.39 1.62 2.73 8.51 3.36 0.98 0.50 0.35 0.15 0.07 0.08 0.02 3 _—
= 015 0.18 0.30 0.66 0.77 1.24 1.23 1.28 1.98 314 5.88 2.40 0.75 0.58 0.19 0.25 0.09 0.15 0.01 6
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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GEOS—Chem v9—-02] Frequency Distribution

ctm.bpch.v9—02] / ctm.bpch.v9—02i

HNOZ2
h=e  0.16 0.20 0.32 0.43 1.27 1.57 1.47 1.81 3.49 9.59 2.66 1.1 0.37 0.21 0.14 0.07 0.04 0.04 0.03 _ 57
Fo.11 0.16 0.19 0.29 0.96 1.55 1.52 1.56 2.05 4.60 6.39 2.25 0.78 0.36 0.17 0.09 0.09 0.04 0.04 0.02 o
= 011 0.20 0.17 0.36 0.55 2.19 1.49 1.74 253 6.35 4.67 1.52 0.60 0.27 0.17 0.10 0.08 0.04 0.03 k=
= o012 0.20 0.23 0.34 0.90 2.34 1.53 1.74 2.73 10.33  3.60 1.21 0.50 0.25 0.14 0.09 0.06 0.04 0.03 0.0
80 0.85 0.90 0.95 1.00 1.05 1.10 15 1.20
OH
k81 0.77 0.61 0.81 0.97 1.16 1.34 1.74 3.16 4.61 9.30 1.1 0.57 0.25 0.06 0.02 2 0 1 1 _17
F0.55 0.64 0.67 0.73 1.06 1.09 1.29 2.09 3.70 5.67 2.25 0.93 0.44 0.21 0.05 0.02 1 0 1 0 =
= 0.59 0.70 0.68 0.75 0.91 1.28 1.46 2.4 4.16 6.90 1.42 0.79 0.31 0.10 0.03 0.01 —
= 066 0.63 0.78 0.98 1.02 1.15 1.59 2.81 412 9.53 1.37 0.65 0.26 0.07 0.02 4 0 0 1 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
OPD
- o 0 0 0 0 0 0 0 0 10p.00 0 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 =
=) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 _—
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
S04 Optical Depth
1 4 9 0.03 0.06 0.10 0.20 0.45 1.31 6.78 1758 0.53 0.07 0.02 5 3 2 1 0 0 _
F2 8 0.02 0.04 0.06 0.12 0.49 0.62 1.69 1041 9.27 0.26 0.05 0.01 8 4 2 0 1 0 —
—_— 7 0.03 0.03 0.08 0.13 0.30 0.82 2.61 17.25  3.99 0.16 0.03 7 4 0 _—
= 5 9 0.03 0.04 0.08 0.15 0.37 1.13 4.07 17.32  0.98 0.10 0.02 0.01 5 0 1 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 15 1.20
BLACK CARBON Optical Depth
- o 0 0 0 0 0 0 0 0 10p.00 0 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 =
=) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 _—
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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GEOS—Chem v9—-02] Frequency Distribution

ctm.bpch.v9—02] / ctm.bpch.v9—02i
ORGANIC CARBON Optical Depth

- 0 0 0 0 0 10p.00 0 0 0 0 0 0 0 _
o 0 0 0 0 0 o 0 0 0 0 0 0 0 =
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 _
= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2
ACCUM SEA SALT Optical Depth
- 0 0 0 0 0 10p.00 0 0 0 0 0 0 0 _
o 0 0 0 0 0 o 0 0 0 0 0 0 0 =
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 _
= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2
COARSE SEA SALT Optical Depth
- 0 0 0 0 0 10p.00 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 0 0 0 0 —
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 =
= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.2
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.20

.20



